USB2.0/SD Slot TypeD
(D505-01)



USB2.0/SD Slot TypeD (D505-01)

PARTS CATALOG

This catalog gives the numbers and names of parts on this machine.

1.USB2.0/SD Slot TypeD (D505-01) ......ccvvnevennnnes 2
Parts INdeX ....covieiiiiiiiiiierir s s e e 6

April 26, 2010



1.USB2.0/SD Slot TypeD (D505-01)




1.USB2.0/SD Slot TypeD (D505-01)

Ir;\?sx Part No. Description AQs?érzglry
1 | D464 1259 | Panel:USB:EXP:MC4:Printing 1
2 | D5051271 |Panel:SD-Card:VC3 1
3 | D505 1260 |Cover:Option 1
4 | D505 1261 | Cover:Option:Cable 1
5 | D422 5701 |PCB:Fusion:Ass'y 1
6 | D464 1265 |Harness:Bracket:Ground 1
7 | D464 4264 |Harness:Drum Stay:Earth 1
8 | B8255500 |[Cable:KY-AMMINIBW-2.5M-2FC 1
9 | D505 1282 |Sheet:Desing Sketch:Panel:EXPO01 1
9 | D505 1283 | Sheet:Desing Sketch:Panel:EXP02 1

Ir;\?sx Part No. Description AQs?érzglry
101 | 0353 0060N | Bind Screw - M3x6
102 | 0450 3010N| Tapping Screw - M3x10
103 | 1105 0322 | Cord Bushing
104 | 11050582 | Clamp:RBWS-0510D-V0
105 | 11050528 | Nylon Clamp - EMT-2N




Parts Index



Parts Index

L Page and

Part No. Description Index No.
D505 1260 Cover:Option 3- 3
D505 1261 Cover:Option:Cable 3- 4
D505 1271 Panel:SD-Card:VC3 3- 2
D505 1282 Sheet:Desing Sketch:Panel:EXPO1 3- 9
D505 1283 Sheet:Desing Sketch:Panel:EXP02 3- 9

I Page and

Part No. Description Index No.
B825 5500 Cable:KY-AMMINIBW-2.5M-2FC 3- 8
D422 5701 PCB:Fusion:Ass'y 3- 5
D464 1259 Panel:USB:EXP:MC4:Printing 3- 1
D464 1265 Harness:Bracket:Ground 3- 6
D464 4264 Harness:Drum Stay:Earth 3- 7




I5age and

Part No. Description Index No.
0353 0060N | Bind Screw - M3x6 3 - 101
0450 3010N | Tapping Screw - M3x10 3- 102
1105 0322 Cord Bushing 3- 103
1105 0528 Nylon Clamp - EMT-2N 3- 105
1105 0582 Clamp:RBWS-0510D-V0 3- 104

Part No.

Description

I5age and
Index No.




	1.USB2.0/SD Slot TypeD (D505 - 01)  
	Parts Index  

